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Grade 6 Assessment of Reading, Writing
and Mathematics, Spring 2006

Student Booklet: Language 2
Scoring Guide




Deseriptor

Blank: nothing writien or drawn in the lined space provided

Hlegible; cannot be read; completely crossed out/ erased; not written
in Lnglish

[rrelevam content: does nol atlempt assigned gquestion (e.g., eomment
on the sk, deswings, 0, 1 “Hdon't know")

O topic: ne relationship of weitten work o the question, no mention
of Dorolly or delalls from the text,

Respanse may reler to aspeets of the question bul indicates o
signifieant misunderstanding of how Dorothy s home environment
contributed to her Jove of wriling.

Idess and information from the reading selection are inaccurate.

Response includes 2 detail about Darothy’s home environment and
connects it her love of writing.

Beferences lrom the text may be vague or irrelevant,

Response explaing 4 connection between Dorothy's Bome
environment and ber love ol wiiting,

Response contains some specific and accurale supporting details Trom
the reading selection.

EQAO Grade 6 Assessment
Scoring Guide — Reading — Open Response
Dorothy Livesay

Question 6

Expiain how Dorgihy's childhood hame enviranmens may have contrituied o her love of
weriting, Llte (nformation from the sest amd your awn ideas 10 SUppor wmour answee,

Aol thoiermmind Wns <22,
_J@' ¥ JLMJWA _n,/mgs;.ﬁéﬂa_ag"'

Rationale: Response comments on aspect of the question
but indicates a misunderstanding of question. Ideas from the
selection are inaccurate,

Question 6 Code 10

Explain how Darothy’s childhood hame environmens may have contributed (o her love of
writing Lse information fram the e and ymur own ideas i LT YOUL A0S wer

P T | _ s d Loaf s e iy @

- E.:'.-:'H_’Li't T T

b s |.|l' s £

Rationale: Response indicates a misunderstanding of how
Dorothy's home environment contributed to her love of
writing. Ideas from selection are inaccurate

Question 6 Code 20

Eaplaln how Damthy's childhood home envimanmen may have comributed o her love of

Response provides a thorough explanation that connects Dorethy’s
home environment to her love of writing,

Response is developed with aceurnle, specific and relevant supporting
details,

writlng e informaiian from e teat dind your own ideas 10 uppor your answer.

Question 6 Code 20

Explain how Darathy's childhood home envirenment may have coniributed to hee lave of
writlng. Use infarmatien from the test and your own ideas 1o suppan your answer,

e e B Tl ks pasa L T — e G '

-
B e iy T L -1 i v (o S S

JERVESY. — T T P P, S T

environment and connects it 1o a love of writing. [deas and
information are vague,

Y 51'9 r'ﬂ"ﬁ" LALE 4n 4h L helew
o b dpad eobelmiy by hor smceen
Rationale: Response includes a detail about the home Rationale: Response is limited but connects a detail about

her home environment lo her writing in a vague way.




Code

Deseriptor

Blank: nothing written or drawn in the lined space provided

[llegible: cannot be read; completely crassed out £ erased; not
written in English

[rrelevant comtent: does not attempt assigned question (e.g.,
comment on the task, drawings, 77,17, *T don't know™)

Offopic: no relationship of wrilten work to the question, no
mention of Darothy or details from the text,

Response may reler o ospects of the gquestion bul indicates a
significont misunderstanding of how Dorothy*s home
environment contributed to her love of writing,

Tdens amd information from the reading selechion are inaccurale,

Response includes a detail about Dorothy’s home environment
and connects it to her love of writing

References Trom the et may be vipue o irrelevant,

Response explaing o connection belween Dorathy’s home
environment and her love of wriling.

Fesponse contains some specific and accurate supporting details
from the reading selection.,

Response provides a thorough cxplanation that connects
Diarethy's home environment to her love of writing,

Response is developed with aceurate, speeilic and relevant
supporting details,

EQAO Grade 6 Assessment

Scoring Guide — Reading — Open Response

Dorothy Livesay

Question 6 Code 30

Explain how Damhy's thikdhaod home enwicanment may have coneributed o her lovee of
writlng. Use informatian from the Lext and your owa ideas 10 yuppart yous anawer,

."lrﬂ'r -Uﬂh‘: au--h'mmi- My ot Lotk
& bker  lave ok e Er_n_fidcﬂ-lﬂiﬂ_h:r_
_erwtoemenk g :L':_'anl|_"2ﬂdl.__ '-‘."_J';a";:l;,-

Eﬁ:"h: be r ﬂﬂ,ghn asd. _j”'f‘ [ oy +_.. e
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Luira .El &our Aol o ks

Code 30

Question 6

Explain how Da rathy's chifdho

- o "Il:l.lm: v
writing. Use information from NN M

il ¥ have moninbyged 1 her love of
AN your gwn ideas e WFPSA e angwer,

LT‘E“&JLQP_LLDM% 1"\‘?—___ =,
TSk L= | __,_\“_ y =
A VIS S
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' P 3@5 TN . ~) ju’.-iL _A\he \‘1\= ALY
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Rationale: Response identifies a detail from her
environment and explains how it contributed 1o her love of
writing with some specific and accurate and relevant

Exghaln haw De.rul.hf'l childond home envieanment may have conmbuted to hee lave of
willing. Use infermaiion fraeim the ten and your awi ldeas Lo spRon [ ur angwer,

ha)‘-.-‘.ﬁ ..r, £|h.1r;ﬂ;;'l-— .|_|:|..-r|..£: Camiind "k Lum__mllﬁ_

W%L&M.MW
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supporting detail
Question 6 Code 40

Rationale: Response explains a connection between the
home environment and a love of writing with some specific
and accurate supporting detail from text.

Question 6 Code 40

fplain how Domihy's childhoed home envicanment may have contributed w her fove af
writlng, Live Infarmadon fram the text and your awn ldeds 10 WPROR U Buwer,

iyl

.r'.l'F i #ﬂ. . |I W ] I

-

b e fw:rP‘Jlr"nll L e e e ﬂ‘*‘"‘-j £ 2 et uﬁd}}n?)c;
o€ Vor, her v Frizad oot Jod helpad verord

o - 3 Ay

T TS S T )

MPeading are ofrer

prattec

Rationale: Response thoroughly explains the connection
hetween the environment and Dorothy’s love of writing
developed with accurate, specifie and relevant ideas and
information.

Rationale: Response provides a thorough explanation that
connects Dorothy’s home environment to her love of
writing, [deas and information are specific and relevant.




EQAQO Grade 6 Assessment

Scoring Guide — Reading — Open Response

Cade

D Sl.:l_'iptﬂ r

11

Blank: nothing written or drawn in the lined space
provided

legible: cannot be read, completely crossed out / erased;
not written in English

rrelevont content; does not attempt assigned question
(e, comment on the task, drawings, “77, 17,0
dan’t know™)

O opie: no reltionship ol written work to the question,
no mention of Dorothy or details Trom he ext

Response may refer 1o the magazine or Dorothy's friends
but indicates a signilieant misundersianding of why
Dorothy's Fricnds enjoved the magazine,

Ideas and information from the reading selection are
inaceurate,

Dorothy Livesay

Question 8 Code 10

faplain why Darothys friemds srjoved ilie magazing Fertmghely Froiic of e Lowser Fith
Use information foom the texe srd voue own fdeas 03 9EpPON yaur inawer,

_J__L,L_‘{\mi"j_{uﬂ'i\. miﬂ\fﬂ e nﬂﬁ:ﬂhn_b_ru d;..jlnﬂ.f_
Fralics_af e lowee Lith

Response is limited but provides a plousible reason
Drorathy's (riends enjoyed Fortnipfily Frofies,

References from (he text may be vague or irrelevant,

Response explains a reason Dorothy's friends enjoyed
Fortightly Fralics.

Response contains some aceurate and specific supporling
details from the reading selection,

]{4.:5|'.u;_'||1_t::.'. i]mviqh‘.:‘- n 1h:J|‘|,,'|tJE|1 -_'x]'llmmﬁ-:u'l of 't'r'l'l:|'
Dorothy's friends enjoyed Fortnightly Frofics.

Response is developed with aceurate and specilic
supporting details,

Rationale: Response indicates a significant
misunderstanding of the selection. Ideas in the response are
inaccurate.

Question 8 Code 20

, Eaplain why Doroihy's frlends enjoyed che magazine Forighily Frofes af the Lawer Fifih,
Lse infarmatien fram the ven and your awn Weas 19 suppon vaur amiwes,

Daﬁakhf'{ Fervond's :q‘:#g& ﬁﬂ“m%g;ﬁ&
Fec fanghily Eedicaaf the Lower F.Hh
Because he Txcﬂ‘!m;z gt a Enufr im

1I‘F"I'

Question 8

Code 10

Explain why Dorathy's friends enjayed the magazine Frmmightly Frola of ik Lo Fifri,
Use information fram the text and wour own ideas Lo suppar your inswer.

st Y3 Srited ea Jﬂ\;'ul_iﬁr_ -1‘:.13«.:.:-_1‘ e husmb{_
OF the  heers EF.H.._HB-ECML..- &‘t¥_ll:'_‘| E]L?.J _hee
bl ke Aol

Rationale: Response comments on an aspect of the question
but indicates a significant misunderstanding of the selection.
References from the text are inaccurate.

Question 8 Code 20

Exptain why Dorothy's femds enjoyed the magazine Formighuly Frodes of the Lawer Fifth
Lse infarmatlan from she text and your gwn [dess 19 suppon your satwer

BB{,ULUE-{. f’[ 'hmdz PJ1E-+L-".I"Eﬁ-
ﬂn&-]’“de:m‘bis} her school,

Rationale: Response provides a plausible reason with
minimal explanation,

Rationale:  Response provides a plausible reason in a vague
and minimal way.,




Deseriptor

Blank: nothing written or drawn in the lined space
provided

[Megible: cannet be read; completely crossed out / erased;
not written im Englizsh

Irrelevant content: docs nol pltempt assigned L]1I:’.‘S['ll.m
{e.g., comment on the task, drawings, *77, *1", %
tlon't know™)

T topie: no relationship ol writlen work 1o the question,
na mention of Dorothy or details from the text,

Response may refer to the magazine ar Decothy’s friends
bt indicates a significant misunderstanding of why
Drorothy's (riends enjoved the magazine.

ldeas and information from the reading selection are
inacenrate,

EQAO Grade 6 Assessment

Scoring Guide — Reading — Open Response

Dorothy Livesay

Question 8 Code 30

Explain why Dasothy's fiends enjoyed the ma gazine Firtmighnly Frofics of the Lower Fifth.
Use information from the tex and your gwn idess to SUPPOM PO Inswer,

';—.b_ﬁ:. s O Soen C}\A{Ed\ j\'ll"‘.g._ mq_q‘_,__lg_l
“cla: Hnﬁrﬂ - ,,1; He logee—

Ei AN Realy ol B cossinatamd
.»...C.m

Response |5 lmited bul provides a plausible reason
Drorothy’s [riends enjoved Fortrightly Frofics,

References from the text may be vague ar irrelevant,

Response explains a reason Dorothy's friends enjoyed
Fortnightly Frofics.

Response contains some accurate and specific supporling
details from the reading selechion,

Responge provides o thorough explonation of why
Digreothy s friends enjoyed Fortiphtly Frofics,

Response is developed with accurate ond specilic
supporting details.

Rationale: Response explains a reason why her friends
enjoyed the magazine with some specific, accurate and
relevant supporting details.

Question 8 Code 40

Explaln why Dasethy's ifends enjoyed the magazine Foreniphtfy Froiles of the Lowsr Fifeh,
Lise Informatlon from the test and your own o @ uppart your anrees,

Tkﬂu Lned the MQ442.00 . pPCauie, H- had

Code 30

Question 8

- Explain why Dorathy's friends enjoved the magazing Fartnighify Fricr of the Lower Fifth,
Use information from the gex snd your own ides o suppan vour snawer,

EDE ;:n - E!i &:E LARTaNa e A s Tt
:\_,_'mhn& nfbmf{_.&a.m g B o
__:‘?‘__ijﬂlg_"lﬂmﬂ:;l eek 0N Yer ..‘x-z.ﬂﬁs_’im_

"‘«'ilt'h'f_. 3"‘iD. 4

Rationale: Response includes some specific, accurate and
relevant ideas and information to explain a reason why her
friends enjoyed the magazine.

Question 8 Code 40

Explaln why Dorouhy's ends enjoyed Uie magazine Fortmighily Frolles of the Laer ik,
Lise infarmation fram IJ'ul text and your own [dean 1o suppan powr inywer,

i il ey Eoshics of 'llrh':‘_ LI'\I.‘*&'{"

_E_hafqr%er shetches oad {1 wes qbnh+ *}F'.lrmﬂ'!
095, They grobly $haught Lhat the
AR h{m!r fhrmq*!m <o th ey
oy (pal ¥,

Rationale: Response provides a thorough explanation of
why Dorothy’s friends enjoyed Formmipghtly Frofics and is
developed with accurate and specific supporting details.

Efh Yrote. "-aéj:-. olna  chatoclepr
d&ﬂ__aﬁﬁ_ﬂld__tbﬂﬁLlaﬂ&ﬂfL_ﬁ_m_vmjﬂL
mod scheel qazip aod characke
skeche s op Ef:‘:hl:ha'i th‘&ﬁm%ﬂ t-wrl_']n—& .

Rationale: Response uses specific, accurate and relevant
supparting details to explain why Dorothy’s friends enjoyed
Formightly Frolics,




Scoring Guide — Reading —

EQAO Grade 6 Assessment

Open Response

Code

Deseriptor

B lank: nothing written or drwwn m e hined space provided

egible: cannot be read; completely crossed out / erased: not
wrilten in English

[rrelevant content: does nal stlempl assigned guestion (e,
comment on the task, drawings, *?7, “!", “[ don’t know")

O topic: no relationship of written work o the question, no
mention of Dorothy or other details from the text.

Response indicates a sipnificant misunderstanding al why
Prorotly lad so many jobs between 1936 and 1963,

Ideas and information from the reading selection are
inaccurate,

20

Response is limiled but provides a plausible reason for why
Daorothy had so many jobs.

[ddeas and information Trom the wext may be minimal, vague o
irrelevant,

M

Response explaing o renson Dorothy had so many jobs
hetween 1936 and 1963,

Respanse containg some seeurate and specilic supporling
details from the reading selection, or ideas Trom personal
knowledge,

40

Response provides a therough explanation for why Dorothy
had so many jobs between 1936 and 1963,

Response is developed with necurale and specific supporting
detanls Trom the text or [rom [‘?l_'th'l::li'lill lcunwlmlgc.

Dorothy Livesay

Question 12 Code 10

Explain why Dassihy may have had sa many different joba betwesn 1936 and 1963, Use
information fram the e and your gwn ideas 1o suppon your anawer,

Question 12 Code 10

Explain why Dasaihy may have had o many dafferen ol berween 1936 arad 1963, Uae
infarmation Mrom the 16t and your awn ideas 1o "J-F‘F‘”‘"l JRE Al

ik She bad S0 m ucL_‘p".;fE;r:,.;L

i C‘JL_Q,_-._J V. LY _T:uff‘ﬂ__gmw

Jobs  beeas< She wos Smark

e, 2 _.:.Exﬂ.._ﬁmnuﬁ:;&ﬂnﬁ Aan ..:l.ull___lm

[t o, - o -+ il TR, —

Rationale: Response responds to the question but does not
provide a plausible reason. ldeas and information are
inaccurate.

Question 12 Code 20

Expluin why Durolhy may have had so many dilferent jobs hetween (336 and L1603, Lhe

Informatian from ilie texr and your ewn ldean 10 wgpon Jsie anawer,
g»_,_::xméa:,_é _£. _;afs

Leftween, 1936 xrc/ 1963 Aocaute

1A M:a/‘!% A‘AL{F : J.._.{'a-:nﬁﬁ'/m}r Wﬁ.
+ “_f.r',ar(-r? aboct [ate 0f et

_fémg-s

Rationale: Response indicates a significant

misunderstanding and includes inaccurate ideas and
information,

Question 12 Code 20

Englain why Dorathy may have had 1o many different joby bevween 1936 and 1963, Une
111{'3"“-1”!-1'1 [emim the tese aml srviar mwi clEan 0 S pRon e aniwee

4albsbedeen 1926 and 1963

—M&ﬁhmmﬁﬂmh_m&ﬁmg-wu&_

e cr—

Rationale: Provides a plausible reason for why she had so
many jobs, Support is limited and vague.

Rationale:  Response provides a minimal explanation with
vague references from the text.




EQAO Grade 6 Assessment

Scoring Guide - Reading — Open Response
Dorothy Livesay

Deseriptor

Blank: nothing written o drawn in the lined space provided

Question 12 Code 30 Question 12 Code 30

Eeplain why Dasathy may have

llegible: cannot be read; completely crossed out / erased; not infarmatian fram the vem s

B i 1 ) . h ] .
Explain why Doroshy may have had 10 many different jolis between 1936 1nd 1963, [1ae ad $a rmany differeat jerbs by 0 1936 nd 1963, Use
writlen in English ;

Informatiasn from the text and vour awn ideas o YOUE o ey 1 TR VAU 4w
} WEPan yaur inswer, T

Dl ot
[=P=TE-1 d ; — - |00 ju
= AR e nad (o many J 0hs he AUl %ﬂ%ﬁ& il ] ad o

~at shout that wge vou mys to saebe

o WWing en. Gour smn  gad nozed to
__’tlﬂlﬁa__nmn{_;f_..iaﬂf__ﬁdja Lo wurld

Irrelevant content: does not attempt assigned question (e,
comment on the task, drawings, 77, 1", "1 dan’t know")

. Off topic: no relationship o written work 1o the question, no
mention of Dorothy or other details fom the fext,

Response indicates o sipnificant misundersionding of why
Drovothy had so many jobs between 1936 and 19263,

Iddens and information from the reading selection ore
inaccurale,
Fjiﬁ.ﬂ?ﬁ:;ﬂﬁIlzix.'}m;m'“m Eplmsbie g By Rationale: Response explains a reason why Dorothy had so Rationale: Response explains why Dorothy had many jobs

- many jobs with some specific and accurate supporting with some specific and accurate supporting details.

e - W,
s and information from the text may be minimal, vagoe or . "
i AR ik " Question 12 Code 40 [ Question 12 Code 40
leviint,
Laplaln why Dorochy may have had wo many dilTerent jobs between 1936 and 1363 Use Laglain why [uieihy may have had 1o many different pebn bevween 1936 and 12463 Ue
Response explaing o renson Dorothy had soomany jobs informatkan fram the text amil your awn fileas 1o uppon poar inswer, infarmation fram e et anl pour own ideds Lo SURFET YOUT nswee
between 1936 and 1963, Dasedly, poy hovp Had 20 Aan. f- sk s 4 . 20 IR VW W RS ) -} aid 1969
- Y 1 _ T T
. S . ; 1 T A
Response containg some accurate and specific supporling berciuse s ﬁp psocléd Ye o LA fhe she _AM_MMJ“M
et y v peailifer co]eet I I|i-- S0 I i .
dumlls from the reading selection, and ideas from personal Ciadesl e e daciabevs: B WhE s o e goe b
knowledpe. =t Hmprany R e T
a - i f'ke  Doen e M_ rman Aase adefrel € imostos Jw_.{‘_
+ T ¥ 3 i
Response provides a thorough explacation for why Dorothy end &I L—"—f?? . 2k ““‘{“'r"‘*;w
had so many jobs between 1936 and 1963, :
Response is developed with accurale and specific supporting SN e
details from the text and ideas lrom personal knowledge, Rationale: Explanation is developed with aceurate, specific Rationale:  Response provides a thorough explanation
- and relevant supporting ideas and information. developed with specific, accurate and relevant ideas and

information,




Scoring Guide ~

EQAO Grade 6 Assessment

Reading — Open Response

Cuocde Deseriptor
1] . Blank: nothing wrilten or deawn i the lined space provided
= [llegible: cannot be read; completely crossed oul £ erased; not
writlen in English
L . [reelevant content: does net altempl assigoed question {e.g,,
comment on the task, drawings, *77, “17, “l don’t know™)
= D topic: no relationship of writlen work te the question, no
mention af Dorothy or olher detadls from the wexd,
o [Lesponse indicales nsignificant misunderstonding ol how
Dorethy's schievements paved the way for ether Canadian
10 writers,
« deas and information rom the reading selection are
inaceurale.
= Response is limited but provides a plausible reason for the
connection between Dorothy’s achievements and other
wrilers,
10
s Meferences Trom the text may Be vague or irrelevant.
o [lespon=e explaing o reason for how Dorathy's achievements
paved the way Tor other Canadian writers,
30
= Response contains some specific and accurale supporting
details rom the reading selection and ideas from persenal
knowledge.
= Response thoroughly explains how Dorothy's achievements
40 paved the way for ether Canadian writers,
L]

Response is developed with sceurate, specific and relevant
supporting details from the lext and idess rom personal
knewledpe,

Dorothy Livesay

N R
Explain how Dorothy Livesay's achisvemenis paved the way for other Canadian writers
Uze inrl'|:||1|'|-1lil.'|l'| From the text and your awn ideas 10 AupROL YOUT AN3WEL

jlgf : M edopd aéﬂ'L_&W
_._}.?J ﬂa ﬂgﬁﬂﬂ .

Jﬂz W

Rationale: Response indicates a significant
mmmderﬂtandmg Gf how ﬂ::]ncm:meuts paved the way.

Questlnn "[ 5

Code 20

[I..I-,hm tgw Doroihy Liveaay's achievements paved ihe way for other Candsdian wiijen,
Use Informatian ram the jext and your awn ideas w wpport pour anywer,

S Yaeat -"an raanld g Ao ‘Lﬂ ke
Yo poe s nw'i socies hned on
D::m’r"m{ WIS

LWnnT

Question 15 Code 10 Question 15 Code

r-_.Tﬁ.jin how D.;.:n.;l-;:, Likgs]:"'l achievements p:.v;d the way for oiker Canadian writers.
Use information fram the text ard your awn ideas o LIP PO POur ANswer,
b

jhc 165 0 el w:/__ d oo fc?(‘f

Rationale: Response does not refer to how Dorothy’s
achievements paved the way for other Canadian writers,

Question 15 Code 20

Eaplain how Daseuy Livesay's achigwements paved ihe way for acher Cinddun wiiees,
Use infarmatian from the text and your awn ideas 19 iUpRa youl Jniwer,

b! i N T J{_;ﬂa_uﬁ:’wuﬂ&_’hw hA

[l 5

h,z.t“_..'dﬂ:l' g - I.‘.'H: W Ll

Rationale: Response provides a plausible reason in a
minimal and vague way.

Rationale: Response is limited with vague and minimal
ideas and information.




EQAO Grade 6 Assessment
Scoring Guide — Reading — Open Response

Dorothy Livesay

Code Descriplor
B = DBlank: nothing writlen or drawn in the lined space provided
= [llegible: cannot be read; completely crossed oul / erased; not
wrilten in English
1 . [rrelevant comtent: does not sttempt assigned question (e.g.,
comment on the task, drawings, 7, 1“1 don™t know™)

» Ol opic: no relationship of written waork to the question, no

mention of Dovothy or other detnils from the text,

»  Response indicates o signilicant misunderstanding of how
Dorothy's achievements paved the way Tor ather Canadian

1 writers,

#  ldeas and information from the reading selection are
inaccurate.

Response is limited but provides a plavsible reason for the il
connection between Dorothy's achievements and ather
writers,

0

= Relerences from the lext may be vague or irrelevant,

= Response explaing a reason for how Dorothy"s schievements
paved the way Tor ather Canadian writers.

K11}

= Response contains some specific and accurale supporting
details from the reading selection and ideas from personal
knowledge.

= Response thoroughly explains how Dorothy's achievements

40 paved the way for other Canadian writers,
= lesponse is developed with aceurate, specific and relevant

supporting details from the text and ideas (rom persanal
knowledge,

Explain how Dorothy Livesay's achievements pived the way for other Canadian writers,
Lise infarmation rom e tex and poue o, ideas (0 SupPOn FOUE answer,

| wonld  srvceeaae o cocthers  do skay
ot Moece oucl and mald e oseges

st LF « coef donl

Rationale: Response explains a reason for how Dorothy’s
achievements paved the way for other Canadian writers with
some specific and accurate ideas and information.

Question 15 Code 40

Explain how Darothy Livessy's achievementa paved the way for ather Camadian wriien,
e Infarmatiaon frcrrn Uhe vt aindd yous awn [dean 1o auppon your anewer,

1 et tan i peh teeruntd  prued de ey fo atter Conadon soefog
s a ﬂ_%" e ,ﬁ..-lrl; r""ﬁrﬂ e THA Lot L«nﬂq %.-

T fiem af A Pimp whyry  Tapt wiert G, Eealpritat g Al
-

i \ i f T — eral * fra Her ] I3

el te wap SC goumloal 8 coms,

Question 15 Code 30 Question 1 Code 30

Expiain how Darsity Livesay's achievemen:s paved the way [oc other Canadian writen.
; '
Llse infarmacion Fam the tea aad youd @i bdeas do seppon yaue inswer.

. L'h&':_ﬁ.‘ {LF)I'LLHM'-“:: r(:ﬂ.-"‘-""_.-"-!-. j}‘f\j LA T 4_,_:‘_
;LJ—:&C‘L Li'-mdiﬂ PH,{;AU:',_.{ H;Huv-gu- {’i& dé E
docd iy eriidy \prudd fig:ﬂbu...ﬂ_ﬂ{‘__m_ﬁhul._a.h- -
it ﬁ,}k .b«_ ?‘2 I La ,{'_‘J;.-{‘

Rationale: Response explains a reason why Dorothy paved
the way using some accurate and specific su pporting details.

Question 15 Code 40

E_l:p-LII? how Dargily Livesayy achievemeny v
Use Infermation from (lie lext and YOUF @ (ileay 1g gy S s
D.—.-r.:-ll'nT Wiovy MM | SEowis, mala) 1 YOUP & nsywer,
r . Bhaduan Lok
3 Yo e

__"‘-—————-"E______________
ctcognizeg]  eleiaaly EZEMH‘& ;gi.'- ol Uﬂc& ig._
&LC,DMEH'EI‘H{&F ‘:.:}nt ‘VECG.NE Fopitac ME:L
2ople.  wrnl 1'“"-1.‘&““ l'-.rj =) .
: 2 3, ':![ll'lﬁ. "Odn’_ﬂ'..-.

Paved the way far gifer

Rationale:  Response thoroughly explaing how Dorathy’s
achievements paved the way for other Canadian writers
supported with aceurate and specific ideas and information.

Rationale: Explanation is thoroughly developed with

aceurate, specific and relevant supporting details from the
text and ideas from personal knowledge.




Code

Deseriplor

B

Blank: nothing written or drawn in the lined space provided

llegible: cannot be read; completely crossed out / erased; not
wrillen in English

frrelevant content: does not atlempt assigned question (e.g.,
camment on the task, drawings, “77, 17, “1 don't know™)
OMT topic: no relationship of written work to the guestion, ne

mention of Newers or frost or any other information from
the text

Response dovs nol identify o way in which King Frost is
cruel

[deas and information from the reading selection are
inaccurate,

Response identifics at least one way in which King Frost is
cruel.

Description is limited with details from the text that may be
vague or irrclevant.

Response identifies at least two ways in which King Frost is
cruel,

Deseription 15 developed with some pecurnte and specific
supparting details from the reading selection, or ideas from
persenal knowledge and experience,

Some references to the selection may be inaccurate, vague or
irrelevant.

Response identifies three ways in which King Frost is cruel.

Description is developed with accurate and specific
supporting details from the text or ideas from personal
knowledge and experience.,

EQAO Grade 6 Assessment

Scoring Guide — Reading — Open Response

Flowers and Frost

Describe three ways in which Fing Frost is "cruel.” Use informiatlan from the 1o and your
awn fdeas to SUPPOTLYyDur answer,

_bhaousSc e Wa 2o n'l‘f-r
_ONOY

Rationale: Response does not identify a way that King
Frost is cruel. Ideas are inaccurate.

Describe three wavs in which KIlsH o s “erwel,” Use information lom ihe wst anel your
crwin [dleas 1o suppon your answer

W HIWMMLM&M =

Question 26 Code 10 Question 26 Code 10

H_ réans % h’ddql'i '-'_ﬂ‘l{r_ﬂ.nﬂl" !;ﬂlrf
Cryel s ULke Fhad.

becausé

Rationale: Response does not identify a way that King |
Frost is cruel. Ideas are inaccurate.

Deacribe thwee ways b which King Froat Is "eruel,® Use information from the west and your
ewn lelena Lo BLPPOLE youl aniwer,

Rrg Poiris cmiel becosse he Veir his o breadh
gael  peade.  all ol Me fhier shibel at-a.

and v ade  Cumme— ged )it aga i,

Rationale: Response lists three ways King Frost is
cruel but provides no description.

Rationale: Response describes ways in which King
Irost is cruel but does not provide support from the
lext.
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Deseriptor

Blank: nothing written or drawe in the lined space provided

llegible: cannot be read; completely crossed out / erased; not
writlen in English

Irrelevant catdenl: doees net atempt assipned question (e.g.,
comment on the task, drawings, "7, “1%, "1 don’t know™)

QI opic: no relationship of written work to the question, no
mention ol Nowers or frost or any other information Trom
The text

Response does not identily o way in which King Frost is
eruel,

ldeas and informatien from the reading selection are
inaceurate.

fesponse identifies al least one way in which King Frost is
criiel,

Description is limited with deiails from the text that may be
vague of irrelevant,

Reesponse identifies at least two ways in which King Frost is
cruel,

Deseription is developed with some acewrate and specific
supporting details from the reading selection, or ideos from
personal knowledge and experience.

Some references to the selection may be inaccurate, vague or
irrelevant,

(el g g mMEﬂM JiF ape Ve wods, ¥ The

Response identifies three ways in which King Frost is cruel.

Deseription is developed with aceurate and specific
supporting details from the text or ideas from personal
knoewledpe and experience,

EQAO Grade 6 Assessment

Scoring Guide - Reading — Open Response

Flowers and Frost
Question 26 Code 30

Describe three ways in which Klng Frean ls *cruel.” Use informartion from the e and your

"‘\Cmﬂ 7 Lf‘ Cﬂ'-.rf"’f’, iq

o TJY r:;:-lé Sindeblow o
HP qha_ﬁ'f* lﬁﬁﬁﬂﬁh& [’ﬂnr}ii'_ land”

Rationale: Response identifies two ways that King
Frost is cruel.

Question 26 Code 40

Deseribe thres wWayn I whilch Klrls Frowd by "oreel,® Use tnformation from the jext |r|-:|..'|.~;\-ur
[N H ] ||:|v|:J.| PG Bppait your Snswer

e e, e Seds whea Vﬁﬂimﬁ'ﬁ Pbatm;.”.:ﬁm'l-:i...Iiw;.'.'.._l':'r.wl
fi. i Bk 1o reoel hermuse ol e pfuises god CBogers are

m.;g"_'r',@anfhy'r T ool Deenee pef aoly ln_tmf.j'fﬁ.%.ﬂ_ﬁ'“ﬁ{d_ﬂﬂ
Sy huj‘_uﬂ oml freze gus ...vI'L"'tE""ﬁ ki i g | =

an el T‘nm En K*rﬁ H-fol‘ in o rpel bmqu‘bc cold Winds
ot bl 'B\B'Iﬁ"‘]""-‘ﬂ _ 3

Question 26 Code 30

Describe three ways in which King Frost is "cruel.” Use informatian from che tess and yaus
owen ideas o Suppan your answer.

—aﬂﬁd Zb&_’ﬁiﬂﬁ_umi i ok’ b The Anedle god
cc'fcf_u,de__‘u'fum aﬁ‘.ﬂﬁ&i_ﬂu? el Aniller w I?_,a.._u_

ekt .u._._..l_é::.a? Ln&;_ﬂu_,LaIxﬁm,ﬁ_.

A,

ills oM albaed me:'_f{a T TR II AR 4 gt
uheki_by dor 4z Mo .‘Jimu:‘ b dtralb o atei e

Rationale: Response identifies two ways King Frost is
cruel (“makes things cold”, “freezes the pond™).
Description is repetitive with some specific, accurate
and relevant details.

Question 26 Code 40

Drescribie three ways [n which King Frast is “eruel.” Use information fram the te and your
awn [deas o suppar your anawer.

_]S-ﬂ_[%{'_a_ﬁﬁ.!'n_ﬁfcﬂ.,fﬁh_dﬁ%LMMj I‘::F_Il.fm

Flowers and trees A W jealen chuel heruee
L,,.‘ E‘fﬂlﬁi al) o the i“.e:.r‘rlf:-
ceun 03 '1:‘.;3 He i alse couel” herause he  mefs

—,L{ﬂlﬁﬁ g ool e anuumr 4 ke Alemr  cald

Locing hin Time in

Rationale: Response thoroughly describes three ways
King Frost is cruel,  Response includes accurate and
specific supporting details.

Rationale: Response thoroughly describes how King
Frost is cruel and uses accurate, specific and relevant
supporting details.

11



EQAO Grade 6 Assessment

Scoring Guide — Reading — Open Response

Flowers and Frost

{_.‘:J_tlc

Descriptor

Blank: nothing written er drawn in the lined space provided

legible: cannot be read; completely erossed oue / erased; not
written in Enplish

Irrelevant content: does not attempt assigned question (e.g.,
comment on the task, drawings, "9, “17, “I don't know')

CH topic: no relationship of written work 1o the question, no

mention of lowers or frost or any other information fram
the text,

Hesponse may inddicate an opinion bul does not support iLar
conneet it 1o how King Frost is portrayed in the poem,
Tdeas and informoion from the reading selection ane
inaceurate,

Response indicates an opinion aboul hew King Frost is
portrayed in the poem

Response provides minimal supporl with vagoe andfor
irrelevant references from the text.

Response indizmes and supports an opinion about how King
Frost is porteayed in the poem

Response is developed with some specific and accurale ideas
and information from the reading selection and may include
ideas from personal knowledge,

Response indicates and supports an opinion about hew King
Frost is portrayed in the poem

Response is thoroughly developed with accurate and specific
ideas and information from the reading selecticn and may
include ideas from personil knowledge,

Question 27 Code 10

Do vou agree with how “King Fros” is ponayed i the poemt Use information from the
poem and your own ideas 1o suppo yous answer

o Dok oo tee With bory Wing fresk s
Peritoeed i Wepoen

Rationale: Response provides an unsupported opinion.

Question 27 Code 20

[ yau agree with how “King Frost® |s porryed | the poeinT Use informatlon from the
poem andd your own Ideas o suppon your answer,

1 a.ge® be ¢ oy cp A
+he + 1. .:Efr AG die & oaed

arnd Fﬂ:"‘-(f‘

ool it

Cvnf &

..-.!a L )

Question 27

Do you agree with how “King Erase® is permayed in the poemi Use iy
poem and your own Ideas to support YOUE angwer. .

—— icaid hewitf o an, i
e e _mé_ry.__j_;am bt b ged
—_— __.&a,a_fmuq. er?t.!h\:? e

farmation from 1he

Rationale: Response does not indicate an opinion about
how King Frost is portrayed.

Question 27 Code 20

D you agree with hew "King Frost” s porraged bn the poemi Use lnformatian from the
poem ad your own ideas 10 wippor your answer,

L] t‘. |’_".’1.Ur‘ L' Ilr—"'.!.l'-ﬂ. AT 'l'l"f;"' 1:_-., l,.'r-_-':lg“tcl kﬁt *
I S5 breg 'llli{‘l. il-'l.'.‘h & L E-'-'u.l,‘.[_ Mo [ [ L_}Q_
Mo taanoads

Rationale: Response indicates an opinion with minimal and
vague supporting details.

Rationale:  Response indicates an opinion with minimal
and vague supporting details.

12



EQAO Grade 6 Assessment

Scoring Guide — Reading — Open Response

Flowers and Frost

Code

Deseriptor

B

Bilank: nothing written or drawn in the lined space provided

[llegible: cannot be read; completely crossed out / erased; nol
written in English

[rrelevant content: does not atlempt assigned guestion (e.g.,
comment on the task, drawings, “7°, “1°, “1 don't know™)
O tepic: no relationship of written work to the question, no

mention of Mawers or frost or any other information from
the text,

Response may indicote on opinion but does nol support i1 or
conneel it o how King Frost is portiraved in the poem

[elens and information from the reading =election are
inaccurate,

Response indicales an opinion about how King Frost is
portrayed in the poem.

20
Response provides minimal support with vague and/or
ierclevant references from the text,
Response indicates and supparts an opinion about how King
Frost is portrayed in the poem,

kUl Response is developed with some specific and accurate idens

and information frem the reading selection and may include
ideas from personal knowledge.

Besponse indicates and supports an opinion about how King
Frast is portrayed in the poein,

Response is thoroughly developed with accurate and specific
ideas and information from the reading selection and may
include ideas from personal knowledpe.

Question 27 Code 30

Do you agree with how “King Frost® is portrayed in the poem? Use informaton from che
poem and your own Ideas 1@ suppon vour answer.

Yeo hecause o Sl l:’{w.rgi‘1 wﬂu!r}
Kreez 2 P\H’{'Yﬂ'\uﬁﬁ. £ he c.-aj& 4l o

cmanee e de ) %gas \'?\\ff(_‘b._ﬂjﬂf_ﬁﬁ_

M hCaiaHe olants rmr\*‘tlmr wainediow s
ko Soch pre I:‘||

Rationale: Response indicates and supports an opinion
about how King Frost is portrayed in the poem with some
specific and accurate ideas and information from the reading
selection and includes ideas from personal knowledge.

Do you agree with how "Klng Froat® is ponrayed in the poem Use Information from the

oemn and your own ldeas 10 Beppor your answer
Ygi - g\gmﬁe_i:lu._sh_u 2 paciraed becoure,

T love summerand -52#":? bod A g
Frast runs all the  rololrs cad -éfm}j
evenyding uhle. f‘l.-%fiﬁ arr the Boldc mﬁe:n:

@_ﬁ%ﬁgﬁwﬁm te_bedses’
aih SIFE Yre He pon

Question 27

Code 30

Dho you agree with how “King Frost” is portrayed in the poem? Useinfarmation fom the
perem and your own ideas 19 support your answer.

e became Foere  aoe e

0 bl a‘df' Ejug{l :ﬁd{j

kLB a8 e, b Nn  Wwe l'“ll'r'ng Ane '!"nn:]. ‘{-t!rl.-

L ala o . - Em’w’- bt Senk “‘d_u.'u i, -

D

e Supepdgs byl H"-“*!!.;._lj_mthhﬂ_z*!. Mian A amed lde 1o

oy

i

Question 27 Code 40

Rationale: Response indicates and supports an opinion

with some specific and accurate ideas and information from

the reading selection and includes ideas from personal
knowledoe.

Question 27

Code 40

Do you agree with how “King Fros® is portrayed in the poemd Use [nformatlon fram e
poem and your okt kdeas o SUppert yeur answer,

M_&miﬂimhjﬂmm_edhnagd_pm_ptﬂﬁ_._
Tbm_ﬂ'ﬂ he pake. natue die he hffﬂgj
[=] ' "11'1 ' -3 L
Snowy go tohagganing

1 * ' " hia i’f' o -
-~

O Sdey— oo

Rationale: Response indicates and thoroughly supports an
opinion about how King Frost is portrayed in the poem,

Rationale:  Response is thoroughly developed with accurate
and specific ideas and information from the reading
selection and may include ideas from personal knowledpe,

13




(

ode

Deseriplor

Blank: nething written or drvwn in the lined space provided  (§

Ilegible: cannot be read; completely crossed out / erased; not
written in English

Irrelevant content: does nod atiempt assigned question (e.g.,
comment on the task, drawings, <77, “!, *1 don't know™)

O opic: no relationship of written work to the question, no
mention of Samuel, fossils ar other details from te text

)]

Response does not idemily or deseribe a previous event that
would explain how Samuel found the Tossil,

Idens and information from the reading selection are
inaccurate.

0

Response identifies a previous event thal would explain how
Samue] found the fossil,

Response is limited with minimal, vague andfor incelevant
idens and information from the text,

Response deseribes a previous event that would explain how
Samuel Tound the Tossil,

Response is developed with some specific and accurate ideas
and information from the reading selection and may include
ideas from personal knowledge.

L

40

Fesponse identifies and deseribes a previous event that would
explain how Samuel found the Tossil.

Fesponse is developed with accurate and specilic ideas and
information from the reading selection and ideas lrom
personil knowledge,

EQAO Grade 6 Assessment

Scoring Guide - Reading — Open Response

The Seeret

Question 38

Cod

what previous event could esplain how Samuel found the ook with tie Tossil? Lse
information From the rea and yaur aawn ideas 1o suppor your answer,

“Tieee e onpof prnum._av_niﬂ_'lm_-’mq_l L qﬂl:l.tﬁ_
fhat cakd ewpiiin beud Tiarmel Egn:L Yng it abs
Srecid D% mou te Mok years aqo.dre u:i_rm;_;._
bar_teen cowced vy Hiros a0l WA guer tha

Jﬁmﬂ::_*.'tt_mm iy rosu e datned oo who o cocle.

Question 38 Code 10

What grevious event could explain how Samuel found the rock wiih the fossil? Use
informanon from the texs and your own ideas o surlrmrt :.-l:-u: ANSWEL

Secevel thood a b dhe Ll
oo umt da  lonek Yoy bth ecamine & 4
—owd_Heon Moy toanked Yo Yo knoy
_abewt e fesi _._S:t_grd:}r bath Josrd o Widdeq

__Phrp "'F-:. \'f""ED ”‘Hﬂ g o
Wim ke W dake th have

S E',.—--r.ﬂ-Hﬂ_f...ﬂl 4

Rationale: Response does not identify a previous event in
the story to explain how Samuel found the fossil (describes
an unrelated event).

Rationale: Response describes an event that might have
happened after Samuel found the rock.

e, nilﬁqr_rl it

—L H"G\..-'-‘:!Ili"l'lll' I-EGI'I.-L__H__LE.}'SA -
Yo E.hlnlu

L.H"I.i u.l'n.ﬂr I 554 -:!n ™ ﬁ gl}llu'.‘ﬂ

Question 38 Code 20

Question 38

Code 20

What prestiris evenl coild esplain how Samuel fownd (he feck wiihy the foasilf Use
infarmation fram the texs and your awn ideas o SUPPANT your answer,

Semuel fedod e mehe et ke £l etk [ MHL"—

haw Samuel found the fossil, Ideas and information from the
text are vague and/or irrelevant (e.g., vague reference to the

conversation between Samuel and Janet),

[al =] 22T ‘Iﬂlh:‘nf aﬂd Lo T Ej
H‘E‘\QHL‘ he {‘r'l-..{ﬂ.ﬂ.ll\ e encle apd wanted 4 . & .
e P leete = orergdiog
% Mo’ tack Yo Jacet. Torgd wvpnled 4o o~
<ee it nm,'l_ c]lw:l i e end
Rationale: Response identifies an event that could explain Rationale: Response identifies a possible event that could

explain how Samuel found the fossil, Response is developed
with limited support.
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1

C m!u

[ Deseriptor

B

Blank: nothing written or deawn in the lined space provided

egible: cannol be read; completely crossed out { erased; not
written in English

[rrelevant content: does not attempt assigned question (e,
comment an the task, drawings, “77, 1", °1 don’t know™)

CHT tepic: no celationship of wreitlen work 1o the question, no

mention of Samuel, fossils or other details from the 1ext.

Response does nol identily or deseribe o previows event thin
would expluin hew Samuel found the fossil,

Teleas and information from he reading selection are
inaccurate.

Response identilies a previous event that would explain how
Samuel found the fossil,

Response is lmited with minimal, vague andfor irrelevan
icdeas and information from (he texl,

Response describes a previeus event thot would explain how
Samuel found the fnssil

Hesponse is developed with some specific and accurale ideas
and information from the reading selection and may include
ideas from personal knowledge.

Response identifies and deseribes a previous event that would
explain how Samuel found the Tossil.

Response is developed with aceurate and specific ideas and
information feom the rending selection and ideas from
persomal knowledpe.

EQAO Grade 6 Assessment

Scoring Guide — Reading — Open Response

The Secrect

Question 38 Code 30

whae previous event could explain how Samuel found the rock with the fossili Use
information from the 1= and your ewn ideas (o support your anzwer.

Somdel Cotdal bogwtee  beer s~ral ki
Into schaol  when e &aw the
tulip, then  he noticed Hoot cock.

S e Mipped (+ aver and dhere.
H yrag

Question 38

WWiha| previous even could gy
information fom the teg an

Plain how 5,

Moy
d ¥our gy idegs |

Linand e fock wigh :h-.

_ME&“&DL{_HG—S_&J&;‘_“&&W s, ["‘Dﬁnfr Use

2 o —‘-I"‘Iiﬂﬁ ERY

S0 _}12‘.--9-*-"—1&?_ —1h2 ok ur'?* A Hﬂr.;_q
_ fapd thala ladas_ g 1'0551 ==0 <1

Rationale: Response describes a relevant previous event in
the story with some specific and accurate ideas and
information.

Question 38 | Code 40

Wihat previous event could explain how Sxmuel found the rack with the Tossil? Use
Infarmatien fram the excand your own ldeas 19 suppar your answer

el codd _have  found e
COck  Lhen e wos dtending to
e gocden  booouie ha bcm'ggkﬁ- .
Jan et ton o Oy b ﬁéﬁrdﬂh

Dla{ S w5 Y

Rationale: Response describes a previous event with some
specific and accurate ideas and information from the story.

Question 38 Code 40

Whar previous event could explali haw Samuel Tound he sock with the fosilIF Use
Inaf :rmm:lun [res g:hr tent ol your awn ldeas o guppan your anssr,

amugl had ::Eﬂﬁn_”_ﬁ_! 10cd_garelon
%@&_ﬁaﬁﬁ_w e .rgq g&mm

.ﬂLﬂﬂtM‘v‘d vl e sl A u.r:gQ_,* c*’.el_E.._

aialt, aﬂfgm_ﬁam ondha ot
m, o Qr_%;& M ha did'h pumeck: Jp Al

event using specific, accurate and relevant ideas and
information from the selection (specific reference to the
class garden).

et dha o5 e closT PGade
Rationale:  Response identifies and describes a previous Rationale: Response is developed with specific ideas

(there is reference to the year before when the class
made the rock garden).




Deseriptor

[Blank: nothing weitten or drawn in the lined space provided

[egible: cunnot be read; completely crossed out f erased; nal
sritten in English

[rrelevant content: does not altermpt assigned question (eg,,
comment on the task, drawings, =7, ", " don™t know™)

QI topic: no relationship of written work to the question, no
mention of Samuel, fossils or other details from the text,

Respanse may indicale an opinion but dees not conneet it 1o
Samuel's deeision 1o keep the fossil a secret,

Tdeas and infermation from the reading selection are
inaccurate

Response indicates an opinion about Samuel’s decision w
keep the fossil a secret.

Response provides minimal support with vague andfor
irrelevant references from the lexl,

Response indicates and supports an opinion about Semuel’s
decision o keep the fossil o seeret,

Response is developed with some specilic and aceurate ideay
wnd information frem the reading selection aned may include
idens from persenal knowledge,

Response indicates and supports an opinien about Samuel’s
decision to keep the fossil a secrel.

Response is thoroughly developed with accurate and specilic
ideas and information from the reading selection and may
inelude ideas from personal knowledge.

EQAO Grade 6 Assessment
Scoring Guide — Reading — Open Response
The Seeret

Question 39 Code 10

« Has Samuel made the tight decksion 1o keep, the fossil 2 secrer? Use inlemation From the

text and your gwn ideas w suppom yeur ansies,
= n&'Lp'F -"Irhng_q_l'l'_‘

ND b mitee B e DA

7
Lhe bottem or Hat rock ond
éﬁ. Sy fo J-'[El: fﬂ?-"‘f. W;"i}l‘ (f-"-’i LA
fell alhd  be mad aFr fles

Question 39 Co

besct and youg gvn ideas Lo suppon your answer, -
Yeo 1% wids hecause B wpd GOl 4o rell
anyont aaes ™ the rodke [t Ahove ceerm b,

Rationale: Response states an opinion, however, ideas
and information are inaccurate.

Question 39 Code 20

Has Sarmuel made che right declsion i keep the faasll & secret? Use linfarmaiion from the
1ext and your awn ldeas (o suppan your answer,

e made & 408 delifion betadse W \na
didn'y Yeep b agarredy EMary on ‘Weuld i)
A0 kave V&

Rationale: Response states an opinion that does relate
to Samuel’s decision; ideas and information are
inaccurate.

Question 39 Code 20

Hias Sarmuel made the right declsion 1o keep the Tossil a secrett Use Infammation Foi i g
text and yoeer own Ideas o suppon your answer,
WA

Mo’ b Lomn 't be dhe Ao bh‘i:;.AL-ﬁ.'ﬁJ_D.nJ' : o I
) Laars!

Htﬂf 0 Scoret  Obwect ¥ E‘m'f‘l B g |

._..njﬂlf.bﬂ Somveane (o b f}ncﬂl 1[|:ﬁz. l.j {1,-5'.!«'1 I,?r'

LAt

Rationale: Response provides minimal support for an
opinion with vague and/or irrelevant references from the
lexl.

Rationale: Response provides minimal support for an
apinion with vague and/or irrelevant references from the
lext,
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EE—
Deseriptor

Blank: nothing written or drawn i the lined space provided

lllegible: cannot be read; complately crossed oul  erased; not
written in English

Trrelevant content: does not attempt assigned question (e.p.,
comment on the task, drawings, 7 17, %D don't know™)

OIT toepic: no relotionship of writlen waork o e question, no
mention of Samuel, fossils or other details from the et

Response may indicie an opinion but doecs nol connect it Lo
Samuel’s decision Lo keep the fossil a secrel,

[deas mnd inlormation from the reading selection arg
inncewrle

Response indicates an opinion shout Samuoel’s decision 1o
keep the [ossil a secret.

Response provides minimal support with vague andfor
irrelevant references from the text

Response indicates and supports an epinion aboul Samuoel’s
decision 1o keep the Tossil a seeret

Response is developed with some specific and accurate ideas
and infoermation from the reading selection sad may include
idens [rom personal knowledge

Response indicates and supports an opinion about Samuel’s
decision to keep the fossil a secret.

Hesponse is thoroughly developed with accurate and specific
ideas and information from the reading selection and may
include ideas from personal knowledge,

EQAO Grade 6 Assessment

Scoring Guide — Reading — Open Response
The Secret

Question 39 Code 30

Has Samuel made the righe deciston o keep the fossil a secret! Use information from the
rext and your own ideas fo Support your answer.

oo G made I el ducigii o ludy Hhe Gl
o teend heoge 1§ b thd o¥h "nci';hr. uihi

S decld dowd Yen ety et h hae
piped A geashedl

Rationale: Response indicates and supports an opinion
about Samuel’s decision to keep the fossil a secret with
some specific and accurate ideas and information.

Has Samuel made the right deciaion 1w keep the fossil a secret? Use information from the
text and your own ideas 1o SLIPROIT YOUE answes,

_A.Daa&:_)l_tﬁ_,u T sk ",..Lkg.h!“'rlﬂ.ﬂrmu_&l_.y_m" o e Li,_ﬂi&!_

. ,EMM +d -ﬂ,-E:-o-{;-J m’,&,&' # I E:ﬁ;:
g skl Sodd Al s pd i ke

Has Samuel made the right decision 10 keep the fossit a secrer? Use information fom the
et and your own ideas 10 suppon your answer.

feg, ¢ becaute Al he do8)
A, -'_;n_'llh:\.:_lﬁ' YT PTL B 1=\ T L e
Mo Yeeraute e eanld wowe .ﬁ,a.ds:u 4

Yo s '

[l WL

(L TRALE TN T

Rationale: Response indicates and supports an opinion
about Samuel’s decision to keep the fossil a secret with
some specific and accurate ideas and information.

Question 39 Code 40

Question 39 Code 40

Has Samuel made the right declalon 1o leep the fassl] 4 seeret! Ue Infermaiion fam the

Lext g paur own Jdeas 1o suppon yaur snawer,
m - 1'(:‘ _._l';"ﬂ t-'.hf "I"ﬂJjJ_.___

Sharun 1 Ya saMeone  aeng le.
Dﬂ_'u%ﬂk Yinue Come ard  desiderl |
\e o wun Yae enorl  uncd

1o E-z_p-él ne;— Jérwa,: roold .G{rv{ rea

Rationale: Response provides thorough support for an
opinion about Samuel’s decision to keep the fossil a secret,

Rationale: Response indicates and opinion and is developed
with specific, accurate and relevant ideas and information.
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